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Math 1030, Exam #1, Summer 2014 Name KEY

Instructions: Show all work. Use exact answers unless specifically asked to round. Reduce as much as
possible. Be sure to answer all parts of each question. |

1. Use the point slope form of a line to find the equation of the line passing through the points
(3,1) and (-2,16). Put your final answer in slope-intercept form. (10 points)

W= {b-1 _ J§'= -2

p

“2-3° =%

V1= T30
y=l= -3 +9G

|
2. Find the equation of the vertical line through the point (1,-4). (5 points)

3. Determine if the pairs of lines below are parallel, perpendicular or neither. (7 points each)

L]_!y:3X""6 M _3
a. , 1 = ™

Lyy=—3%+11 YY\z-"'-_l._s 5(‘?)_.

Li:3x — 6y =10 —ly =~3%+10 | =1y, _5
b b2y =4 :_-(f” —;—g—:g =¥ N = 2K 3

%_:_}%—l—% = N = —é:;g,ﬂi-'l

W&M
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Ly: passing through (2,1), and (4,5)
L,:passing through (—3,4) and (5,11)

m, = o= ¢

42 =2 "% |
mz = ll ""L(' = q— W
5-(% &
4. Find the equation of the IineMto the liney = %x + 4 and passing through the point (6,-1).
(8 points) m -,,-22(.

N+l= Ji()t-(,‘_,>
Yt =203
-

5. Find the equation of the line perpendicular to the line x = SL passing through the point (3,2). (6
points) ‘
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6. Graph the linear inequality y < ix + 1 on the : M
graph below. Be sure to shade the side of the
line that satisfies the inequality. (8 points) B
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| . y=2x—6 . .
7. Solve the system of equations {Bx +2y =10 graphically. Sketch the graph you obtain from

your calculator and label the point of intersection with its coordinates, if it exists. Round your
answer to two decimal places if necessary. (10 points)

2N =-2x +l0
2 2

y=-24458




McCall, Math 1030 . Page 4 of 6

=10
8. Solve the system of equations {Z;C f }3]31 ~ 25 by using substitution. State your answer as a

coordinate point. (10 points)

Y=~ x+lo
2 X = B(-x+10)=2%
Z2X+ D% 30 = 25
Sk =30=2%
Ex =55

=] (11,-0)
NE—{f+10=+] ————

e e e

, . S5x—3y =45 o "
9. Solve the system of equations {Sx +4y =48 by elimination by addition. State your answer as

a coordinate point. (10 points)

oy ~\1y= |&
Qx 12y = (44

294 = 224

29 27
K= 324
29

3(32) + 1y = 4%

| Ao g
Py =2

~ 29
(B e
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—x+3y=12

10. Solve the system of equations {Zx —6y = _24_by any method. Clearly state the solution, if it

exists. (8 points)
— 2)( 4 6\( :=2."&
2h ~by=-24
— o‘ n

M —Xt+3y= (2 tfoacé&m

infprits. # 4 sebideano

11. For each of the graphs below, state whether the solution is consistent or inconsistent, and if
applicable, is it dependent or independent. (4 points each)
o U

Vi _|:_ wJie
-

1 pd P

et

Lonairtent weaaiod | lowidenk

indepondert W

12. Solve the equation 2x —3(x —4) +5 = g(x -12) + %grabhically. State the solution rounded
to two decimal places. Sketch the graph obtained from youfcalculator. (10 points)

4o
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13. Give an example of a system of equations that would be more easily solved with elimination by
addition instead of by substitution. Explain your reasoning. (6 points)

2X ‘\“:"\f = 20 o
Sk~ by =42 O Cotffreunts are
dre .
14. Why is an inconsistent system neither dependent nor indepéndent? (6 points)
eaaidet peano “no Seldn
Jout Aependort 3 whependent

15. There are three forms of the equation of a line that we learned in Chapter 3: the standard form,
the slope-intercept form, and the point-slope form. Give an'example of an equation in each
form (they do not need to be the same line), and label each form clearly. (9 points)

famdard i Bp T2y =12
§l0]0’:'5*’=“[“"""4°+ ANk %
jl)@,,\} SL_B’FJL : & b = 567'\“‘\3 Wg‘

16. Give one example of a situation in which it might be necessary to solve a system of equations. (4
points)

alots @ undrvwna wll do | uck a0 PAlng oy
o 3 woeotmantz, 2 Fkok predo, coot g fvo




